
 

 

 
STEINWAY & SONS 

One Steinway Place 

Long Island City, NY 11105 

 

Parts Department 
PARTS PRICE LIST 

 

JANUARY 2011 

 
Phone: 718-204-3150        FAX: 718-267-3415 

Email address: parts@steinway.com     FAX (toll free): 1-866-STEINWAY 

 

 

Thank you for choosing genuine Steinway& Sons parts. When ordering, please provide your Customer 

Number, the part number of each item, and the quantity of the item(s) you wish to order. Also, please 

include the Steinway model and serial number information if possible to help ensure we accurately fill 

your order. Please note that some furniture parts are shipped slightly oversized to allow for custom fitting.  

 

For order fulfillment and shipping status, we recommend that you provide your email address. This allows 

UPS to email you notification of shipment with each package tracking number for your convenience.  

 

We ship via UPS. Prices listed do not include shipping and handling. A boxing charge will be added on 

select parts when applicable. If items sustain damage during delivery, notify us immediately so that we 

can file a claim with UPS on your behalf.  

 

We offer a 30 day return policy on all orders. Please inspect your order upon receipt as we cannot make 

adjustments or credit your account after 30 days or on parts that have been altered. Certain items may 

incur a restocking fee.  

 

For your protection, ship returns via UPS, Federal Express, or other methods that require a signature upon 

receipt. If returned items are lost and delivery verification is not available, we can not provide credit. 

Parts must be returned unused and in new condition. We must be advised prior to return to ensure 

credit.  

 

 We accept MasterCard, Visa, and American Express. 

 Please note that there is a $20.00 minimum per order.  

 

Prices and specifications are subject to change without notice 

 

Customer number __________________ 



Page 1 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

004430 ACTION RAIL FLANGE CLOTH - BLACK - 5/8" x 53" EA 9.00            

005171 ACTION FRAME RAIL BORED (LET-OFF)  - C/D EA 86.00          

005151 ACTION FRAME RAIL BORED (LET-OFF) - A/B EA 68.00          

005168 ACTION FRAME RAIL BORED (LET-OFF) - S/M/L/O EA 68.00          

005170 ACTION FRAME RAIL BORED (HAM/REP) - D EA 72.00          

005152 ACTION FRAME RAIL BORED (HAM/REP) - A/B EA 66.00          

005152 ACTION FRAME RAIL BORED (HAM/REP) - S/M/L/O EA 68.00          

006485 ACTION FRAME RAIL UNBORED - GRAND EA 59.00          

000245 ACTION RAIL DOWEL - MAPLE - GRAND EA 14.00          
 

008449 SCREW - ACTION FLANGE  (HAM/REP/DAMPER FLANGE) ST 41.00          

008389 SCREW - ACTION BRACKET (SECURES ACTION TO FRAME) DZ 7.00            

097875 ACTION FRAME - SHIPPING CARTON EA 25.00          

006484 ACTION FRAME W/ LET-OFF BUTTONS - C/D EA 475.00        

006483 ACTION FRAME W/ LET-OFF BUTTONS - A/B EA 441.00        

006482 ACTION FRAME W/ LET-OFF BUTTONS - S/M/L/O EA 450.00        

009062 ACTION FRAME SPACERS EA 8.00            
-              

006866 ACTION FRAME SUPPORT BLOCKS - D ST 112.00        

006867 ACTION FRAME SUPPORT BLOCKS - B ST 115.00        

006865 ACTION FRAME SUPPORT BLOCKS - S/M/L ST 112.00        
 

009116 ACTION HANGER #1 EA 51.00          

009117 ACTION HANGER #2 EA 51.00          

009118 ACTION HANGER #3 EA 51.00          

009119 ACTION HANGER #4 EA 51.00          

009120 ACTION HANGER #5 EA 51.00          

009121 ACTION HANGER #6 EA 51.00          
 

009131 AGRAFFE 1 HOLE - 1/4'' DZ 54.00          

009132 AGRAFFE 2 HOLE NARROW - 1/4'' DZ 54.00          

009133 AGRAFFE 2 HOLE WIDE - 1/4'' DZ 54.00          

009134 AGRAFFE 3 HOLE - 1/4" DZ 54.00          

006853 AGRAFFE ASSORTMENT - 1/4" DZ 54.00          

006852 AGRAFFE SET - D - 1/4" ST 224.00        

006851 AGRAFFE SET - S/M/L/B - 1/4" ST 187.00        
 

006809 AGRAFFE 1 HOLE - 7/32'' DZ 54.00          

006810 AGRAFFE 2 HOLE - 7/32" DZ 54.00          

006811 AGRAFFE 3 HOLE - 7/32" DZ 54.00          

006812 AGRAFFE ASSORTMENT - 7/32" DZ 54.00          

006502 AGRAFFE SET - D - 7/32" ST 224.00        

006501 AGRAFFE SET - S/M/L/B - 7/32" ST 187.00        
 

009114 AGRAFFE SHIMS - .021 DZ 6.00            

009115 AGRAFFE SHIMS - .030 DZ 6.00            
 

004484 BACKCHECK FELT ONLY - 3/4" x 23/32" EA 6.00            

005066 BACKCHECK SKIN - 31" x 1 3/4" EA 41.00          

006257 BACKCHECKS WITH WIRES - SET EA 225.00        

006245 HAMBURG - BACK CHECKS W/ WIRES - SET ST 235.00        

 

Effective: January 2011



Page 2 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

004438 BALANCE RAIL BEARING FELT - GREY 3/8" x 50" SP 7.00            

005048 BALANCE RAIL BEARINGS W/ FELT - GRAND/VERTICAL ST 36.00          

007255 BALANCE RAIL FELT PUNCHINGS - WHITE ST 7.00            

009047 BALANCE RAIL GLIDER STUDS -  3 1/4" DZ 53.00          

008915 BALANCE RAIL PINS - S/M/L/O/A/B .146 x 2 3/16" ST 58.00          

008906 BALANCE RAIL PINS - D .146 x 2 9/16" ST 58.00          
 

005131 BALANCIER SKIN (4 STRIPS) EA 75.00          

007263 BALANCIER ROUND RED PUNCHINGS ST 13.00          

007256 BALANCIER-END RED FELT BLOCKS ST 7.00            
 

006504 BASS STRING (SINGLE) - INDICATE MODEL & STRING # EA 26.00          

007329 BASS STRING SET -  K52, VERTICAL (CURRENT) ST 207.00        

007330 BASS STRING SET- 45/1098 VERTICAL ST 207.00        

007336 BASS STRING SET - D (CURRENT) ST 244.00        

007335 BASS STRING SET - B ST 224.00        

007356 BASS STRING SET - B #577516- (CURRENT) ST 224.00        

007340 BASS STRING SET - A (CURRENT) ST 281.00        

Note: Contact Mapes for old style model O and model A.

007339 BASS STRING SET - O (CURRENT) ST 215.00        

007334 BASS STRING SET - L ST 215.00        

007333 BASS STRING SET - M ST 215.00        

007332 BASS STRING SET - S ST 215.00        

006843 HAMBURG BASS STRINGS - SPECIFY MODEL & SERIAL # ST 439.00        
 

023899 BENCH - EBONY WOOD TOP - GRAND EA 1,015.00     

026781 BENCH - ADJ. ARTIST EBONY - VINYL EA 675.00        

026780 BENCH - ADJ. ARTIST EBONY - LEATHER EA 1,050.00     

026771 BENCH - ADJ. ARTIST DUET EBONY - VINYL EA 891.00        

033899 BENCH - MAH. WOOD TOP - GRAND EA 1,285.00     

036781 BENCH - ADJ. ARTIST MAH. SATIN - VINYL EA 640.00        

236781 BENCH - ADJ. ARTIST MAH. SATIN LUSTER - VINYL EA 715.00        

043899 BENCH - WAL. WOOD TOP - GRAND EA 1,321.00     

046781 BENCH - ADJ. ARTIST WAL. SATIN - VINYL EA 640.00        

246781 BENCH - ADJ. ARTIST WAL. SATIN LUSTER - VINYL EA 715.00        

043897 BENCH - WAL. - SK 501 (LOUIS X) GRAND EA 2,724.00     

046255 BENCH - WAL. UNFINISHED - SK 501 (LOUIS X) GRAND EA 1,712.00     

023816 BENCH - EBONY - K52 EA 1,229.00     

033816 BENCH - MAH. - K52 EA 1,569.00     

043816 BENCH - WAL. - K52 EA 1,693.00     

023815 BENCH - EBONY - 1098 EA 971.00        

033815 BENCH - MAH. - 1098 EA 1,296.00     

043815 BENCH - WAL. - 1098 EA 1,467.00     

023889 BENCH - EBONY - 4510 EA 1,029.00     

043889 BENCH - WAL. - 4510 EA 1,576.00     

003855 BENCH HARDWARE (COMPLETE) EA 32.00          
 

008815 BRIDGE PINS #10 (100/SET) ST 15.00          

008814 BRIDGE PINS #9 (100/SET) ST 15.00          

008813 BRIDGE PINS #8 (100/SET) ST 15.00          

008812 BRIDGE PINS #7 (100/SET) ST 15.00          
 

Effective: January 2011



Page 3 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

006409 BURN-IN STICK - BLACK EA 13.00          

006410 BURN-IN STICK - MAHOGANY EA 13.00          

006411 BURN-IN STICK - WALNUT EA 13.00          
 

004500 BUSHING CLOTH - ACTION FLANGE - (6 pcs.) ST 8.00            

007098 BUSHING CLOTH - DAMPER GUIDE RAIL EA 7.00            

004402 BUSHING CLOTH FOR KEYS - 3/8" x 30" (4 pcs.) - Red ST 9.00            

004401 BUSHING CLOTH FOR KEYS - 3/8" x 30" (4 pcs.) - White ST 9.00            

007915 BUTTON - BLACK - CORNICE AND VERTICAL DZ 7.00            

007913 BUTTON - BLACK - DESK BACK & FRAME STOP DZ 7.00            

007951 BUTTON - BLACK - DESKFRAME RAIL - GRAND DZ 7.00            

007914 BUTTON - BLACK - KEYBLOCK AND TOPSTICK DZ 7.00            

007919 BUTTON - BLACK - KEYSLIP DZ 7.00            

007986 BUTTON - BLACK - TOPSTICK DZ 7.00            

007917 BUTTON - BLACK (FLAT) TOP - GRAND/VERTICAL DZ 7.00            

007916 BUTTON - BLACK (ROUND) TOP - GRAND/VERTICAL DZ 7.00            

007925 BUTTON - BROWN  (FLAT) TOP - GRAND/VERTICAL DZ 7.00            

007923 BUTTON - BROWN - CORNICE AND VERTICAL DZ 7.00            

007921 BUTTON - BROWN - DESK BACK & FRAME STOP DZ 7.00            

007922 BUTTON - BROWN - KEYBLOCK AND TOPSTICK DZ 7.00            

007924 BUTTON - BROWN (ROUND) TOP - GRAND/VERTICAL DZ 7.00            

007927 BUTTON - DESKFRAME STOP / REAR W/ #008311 DZ 7.00            
 

008916 CAPO BAR - UPPER TREB. 10" -  K52 EA 92.00          

008918 CAPO BAR - LOWER 9 5/16" -  K52 EA 92.00          

008917 CAPO BAR - PRESSURE BAR - K52 EA 92.00          

008920 CAPO BAR -  UPPER TREB. - 45 EA 92.00          

008921 CAPO BAR - LOWER TREB. - 45 EA 92.00          

008743 CAPO BAR - PRESSURE BAR - 45 EA 46.00          

008960 CAPSTAN SCREW ST 59.00          
 

008549 CASTER BRASS - NEW STYLE W/O S. (1 15/16") - B/D/K EA 57.00          

008760 CASTER BRASS - OLD STYLE W/O SOCKET - B/D/K EA 45.00          

CP8549 CASTER CHROME - NEW STYLE W/O SOCKET - B/D/K EA 115.00        

008734 CASTER DBL. RUBBER W/O SOCKET- ALL GRAND - 2" DIA. EA 62.00          

006868 CASTERS BRASS - HAMBURG X-LARGE - 3 1/2" DIAMETER ST 1,823.00     

008769 CASTER BRASS - NEW STYLE W/O SOCKET - S/M/L EA 44.00          

008794 CASTER BRASS - OLD STYLE W/O SOCKET -  S/M/L EA 38.00          

CP8769 CASTER CHROME - NEW STYLE W/O SOCKET - S/M/L EA 77.00          

008734 CASTER DBL. RUBBER W/O SOCKET- ALL GRAND - 2" DIA. EA 62.00          
 

008764 CASTER RUBBER W/O SOCKET - FRONT 1098/45 EA 44.00          

008767 CASTER RUBBER W/O SOCKET - REAR 1098/45 EA 45.00          

008541 CASTER BRASS W/ SOCKET - 40" UPRIGHT EA 65.00          

008531 CASTER BRASS W/O SOCKET - 4510 EA 52.00          

008799 CASTER SOCKET - OLD STYLE - FOR #008794 EA 8.00            

008770 CASTER SOCKET - NEW STYLE - FOR #008769/#008794/#008734 EA 8.00            

CP8770 CASTER SOCKET - NEW STYLE - FOR #CP8769 EA 25.00          

008550 CASTER SOCKET - NEW STYLE - FOR #008760/#008549/#008734 EA 11.00          

CP8550 CASTER SOCKET - NEW STYLE - FOR #CP8549 EA 27.00          

008773 CASTER SOCKET - FOR #008764/#008767/#008531 EA 8.00            

008381 SCREW - CASTER SOCKET - #12 x 2 1/4" DZ 7.00            

Effective: January 2011



Page 4 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

 

008824 CENTER PINS - 19 LONG OZ 11.00          

008823 CENTER PINS - 19 SHORT OZ 11.00          

008827 CENTER PINS - 19.5 LONG OZ 11.00          

008826 CENTER PINS - 19.5 SHORT OZ 11.00          

008834 CENTER PINS - 20 LONG OZ 11.00          

008832 CENTER PINS - 20 SHORT OZ 11.00          

008830 CENTER PINS - 20.5 LONG OZ 11.00          
 

023271 CONSOLE (ABOVE REAR LEG) UNFINISHED EBONY -  B/D EA 114.00        

023270 CONSOLE (ABOVE REAR LEG) UNFINISHED EBONY - S/M/L EA 110.00        
 

008857 COVER CATCH (TOP) CLIP - 1098 EA 7.00            

008855 COVER CATCH (TOP) HOOK - 1098 EA 7.00            

008546 COVER CATCH GRAND (TOP)  FEMALE - BRASS EA 14.00          

008544 COVER CATCH GRAND (TOP) MALE - BRASS EA 14.00          

CP8546 COVER CATCH GRAND (TOP)  FEMALE - CHROME EA 22.00          

CP8544 COVER CATCH GRAND (TOP)  MALE - CHROME EA 28.00          

008340 COVER CATCH SCREW - BRASS DZ 7.00            
 

004359 DAMPER FELTS - C/D ST 98.00          

004358 DAMPER FELTS - B ST 92.00          

004354 DAMPER FELTS - A ST 96.00          

004357 DAMPER FELTS - L/O ST 92.00          

004356 DAMPER FELTS - M ST 92.00          

004355 DAMPER FELTS - S ST 92.00          

006860 HAMBURG DAMPER FELTS - SPECIFY MODEL ST 191.00        

006328 DAMPER HEADS ONLY - C/D EA 197.00        

006327 DAMPER HEADS ONLY - B EA 197.00        

006329 DAMPER HEADS ONLY - A EA 197.00        

006326 DAMPER HEADS ONLY - S/M/L/O EA 197.00        

006315 DAMPER HEADS W/WIRE & FELT - D ST 361.00        

006314 DAMPER HEADS W/WIRE & FELT - B ST 357.00        

006320 DAMPER HEADS W/WIRE & FELT - A ST 357.00        

006313 DAMPER HEADS W/WIRE & FELT L/O ST 359.00        

006312 DAMPER HEADS W/WIRE & FELT - M ST 359.00        

006311 DAMPER HEADS W/WIRE & FELT - S ST 359.00        
 

006330 DAMPER WIRE SET - (BASS/TREB) - S/M/L/O/A/B/D ST 76.00          
 

004407 DAMPER G. RAIL CLOTH - BLACK (ADHESIVE) 3/4" x 54" EA 7.00            

007098 BUSHING CLOTH - DAMPER GUIDE RAIL EA 7.00            
 

006863 DAMPER GUIDE RAIL (B/T) - C/D EA 85.00          

006862 DAMPER GUIDE RAIL SET (B/T) - A/B EA 77.00          

006861 DAMPER GUIDE RAIL SET (B/T) - S/M/L/O ST 77.00          
 

000241 DAMPER LIFTER DOWEL 1/2 x 4" (PITMAN) EA 6.00            

005305 DAMPER STOP RAIL - C/D EA 51.00          

005304 DAMPER STOP RAIL - A/B EA 52.00          

005303 DAMPER STOP RAIL - S/M/L EA 51.00          

008386 DAMPER STOP RAIL - SCREW DZ 7.00            

004464 DAMPER STOP RAIL FELT - RED - 44" x 3/16" SP 7.00            
 

Effective: January 2011



Page 5 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

CP8011 DECAL - FALLBOARD CHROME - GRAND EA 46.00          

008011 DECAL - FALLBOARD BRASS - GRAND EA 37.00          

008015 DECAL - FALLBOARD BRASS - VERTICAL EA 30.00          

008012 DECAL - FALLBOARD (HISTORIC) BRASS - GRAND EA 46.00          

CP8012 DECAL - FALLBOARD (HISTORIC) CHROME - GRAND EA 46.00          

008010 DECAL - SIDE BRASS - D EA 73.00          
 

026536 DESK FRAME W/O HDW EBONY FINISHED - D EA 526.00        

026568 DESK FRAME W/O HDW EBONY FINISHED - A/B EA 526.00        

026567 DESK FRAME W/O HDW EBONY FINISHED - S/M/L EA 478.00        

023333 DESK FRAME W/O HDW EBONY UNFINISHED - D EA 263.00        

023332 DESK FRAME W/O HDW EBONY UNFINISHED - B EA 263.00        

023331 DESK FRAME W/O HDW EBONY UNFINISHED - S/M/L EA 263.00        

036567 DESK FRAME W/O HDW MAH. FINISHED - S/M/L EA 517.00        

033331 DESK FRAME W/O HDW MAH. UNFINISHED - S/M/L EA 387.00        

033467 DESK FRAME W/O HDW MAH. UNFINISHED - 1014 EA 688.00        

046567 DESK FRAME W/O HDW WAL. FINISHED - S/M/L EA 517.00        

043331 DESK FRAME W/O HDW WAL. UNFINISHED - S/M/L EA 387.00        

043192 DESK FRAME W/O HDW WAL. UNFINISHED - S/M/L 501 EA 857.00        
 

026565 MUSIC DESK ASSEMBLY (W/ HARDWARE) - EBONY FINISHED - D EA 1,499.00     

026564 MUSIC DESK ASSEMBLY (W/ HARDWARE) - EBONY FINISHED - O/A/B EA 1,370.00     

026563 MUSIC DESK ASSEMBLY (W/ HARDWARE) - EBONY FINISHED - S/M EA 1,327.00     
 

008336 DESK HINGE SCREW - BRASS - 4 X 5/16 DZ 7.00            

008557 DESK SUPPORTS - BRASS EA 55.00          

008559 DESK SUPPORTS - CHROME PLATED EA 65.00          

008553 DESK - BUTT HINGE BRASS - S/M/L EA 15.00          

CP8553 DESK - BUTT HINGE CHROME - S/M/L EA 28.00          

008571 DESK B. HINGE- BRASS- [T. STICK - GRD.]  [DESK - O/A/B/D] EA 12.00          

CP8571 DESK B. HINGE-CHROME- [T. STICK- GRD.] [DESK B/D] EA 19.00          
 

026503 DESK W/O HDW EBONY FINISHED - O/A/B/D EA 733.00        

026501 DESK W/O HDW EBONY FINISHED - S/M EA 591.00        

026502 DESK W/O HDW EBONY FINISHED - L EA 591.00        

023217 DESK W/O HDW EBONY UNFINISHED - O/A/B/D EA 508.00        

023212 DESK W/O HDW EBONY UNFINISHED - L EA 508.00        

023208 DESK W/O HDW EBONY UNFINISHED - S/M EA 508.00        

036502 DESK W/O HDW MAH. FINISHED - L EA 770.00        

036501 DESK W/O HDW MAH. FINISHED - S/M EA 770.00        

036437 DESK W/O HDW MAH. FINISHED - 1014 EA 672.00        

033212 DESK W/O HDW MAH. UNFINISHED - L EA 487.00        

033208 DESK W/O HDW MAH. UNFINISHED - S/M EA 486.00        

033463 DESK W/O HDW MAH. UNFINISHED - 1014 EA 529.00        

046503 DESK W/O HDW WAL. FINISHED - O/A/B/D EA 819.00        

046502 DESK W/O HDW WAL. FINISHED - L EA 770.00        

046501 DESK W/O HDW WAL. FINISHED - S/M EA 770.00        

043217 DESK W/O HDW WAL. UNFINISHED - O/A/B/D EA 489.00        

043212 DESK W/O HDW WAL. UNFINISHED - L EA 487.00        

043208 DESK W/O HDW WAL. UNFINISHED - S/M EA 487.00        

Effective: January 2011



Page 6 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

 
026628 DESKFRAME SLIDES EBONY FINISHED -D PR 185.00        

000331 DESKFRAME SLIDES EBONY UNFINISHED - S/M (B&T) PR 38.00          

026626 DESKFRAME SLIDES EBONY FINISHED - B (B&T) PR 189.00        

036331 DESKFRAME SLIDES MAH. FINISHED - S/M (B&T) PR 178.00        

036626 DESKFRAME SLIDES MAH. FINISHED - B (B&T) PR 192.00        

046331 DESKFRAME SLIDES WAL. FINISHED - S/M (B&T) PR 127.00        

008376 SCREW - DESKFRAME SLIDE DZ 7.00            

008425 SCREW - DESKFRAME SLIDE - (REAR) - D DZ 7.00            

008343 SCREW - DESK BUTT HINGE/DESK SUPRT- BRASS - 8 x 5/8 DZ 7.00            

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ 7.00            
 

008548 DESK/KEYLIP BUTT HINGE - BLACK - B/D (4 pcs.) ST 13.00          

004436 DESKFRAME FELT - RED - 1 3/4" x 32" (2 PCS.) EA 7.00            

007902 DESKFRAME FIBER PLATES - B/D EA 7.00            

007903 DESKFRAME FIBER PLATES - S/M/L EA 5.00            

008311 SCREW - KEYLID END/DESK FRAME STOP DZ 8.00            
 

008672 DUPLEX SCALE SET - D ST 161.00        

008673 DUPLEX SCALE SET - B ST 91.00          

008905 DUPLEX SCALE SET - A (CURRENT) ST 90.00          

008659 DUPLEX SCALE SET - L ST 92.00          

008656 DUPLEX SCALE SET - M/O ST 96.00          

008652 DUPLEX SCALE SET - S ST 103.00        
 

006875 LOCK ESCUTCHEON - BRASS EA 26.00          

004444 FALLBOARD FELT - 49" x 1/2" SP 7.00            

008851 FALLBOARD SPRINGS - GRAND EA 6.00            

CP8578 FERRULES - CHROME - 4510 EA 30.00          

CP8440 FERRULES SCREW - CHROME DZ 12.00          

007999 FIBERBOARD SHEETS - 24" x 40" - 1/32" THICK EA 30.00          

007275 FLY PUNCHINGS - RED ST 10.00          

008787 FLY/BALANCIER REGULATING SCREW ST 16.00          

005126 FLY/BALANCIER REGULATING BUTTONS ST 19.00          

005628 FLY/TNDR/BUTTON - NY IMPROVED ST 115.00        

006825 FRONT RAIL PINS - .128 x 1 9/16" ST 98.00          

007272 FRONT RAIL PUNCHINGS - CLOTH ST 18.00          
 

006878 GLUE - WHITE - WOODLOK  8 OZ. EA 44.00          
 

NY HAMMERS  

006215 NY HAMMERS - 7/32 BORE - C/D ST 541.00        

006214 NY HAMMERS - 7/32 BORE - A/B ST 520.00        

006213 NY HAMMERS - 7/32 BORE - S/M/L/O ST 520.00        

006255 NY HAMMERS - 3/16 BORE - C/D ST 541.00        

006254 NY HAMMERS - 3/16 BORE - A/B ST 520.00        

006253 NY HAMMERS - 3/16 BORE - S/M/L/O ST 520.00        

005014 NY HAMMERS - 7/32 BORE (26 NOTE BASS) - 45/1098/K52 ST 445.00        

005016 NY HAMMERS - 7/32 BORE (28 NOTE BASS) - F ST 445.00        

005015 NY HAMMERS - 7/32 BORE (32 NOTE BASS) - 40/100 ST 445.00        

005013 NY HAMMERS - UNBORED - 45/1098/K52 ST 418.00        

006275 NY HAMMERS - UNTAPERED/UNBORED - C/D ST 515.00        

006274 NY HAMMERS - UNTAPERED/UNBORED - A/B ST 492.00        

006273 NY HAMMERS - UNTAPERED/UNBORED - S/M/L/O ST 492.00        

Effective: January 2011



Page 7 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

 

NY HAMMERS GLUED TO NY SHANKS & FLANGES  

006230 NY HAMMERS GLUED TO NY S/F (5 1/8") - C/D - NYI ST 1,285.00     

006229 NY HAMMERS GLUED TO NY S/F (5 1/8") - A/B - NYI ST 1,252.00     

006228 NY HAMMERS GLUED TO NY S/F (5 1/8") -S/M/L/O - NYI ST 1,252.00     
 

NY HAMMERS GLUED TO NY OCTAGONAL SHANKS & FLANGES  

006234 NY HMRS GLUED NY (HAM. STYLE) S/F (5 1/8") - C/D EA 1,285.00     

006233 NY HMRS GLUED NY (HAM. STYLE) S/F (5 1/8") - A/B EA 1,275.00     

006232 NY HMRS GLUED NY (HAM. STYLE) S/F (5 1/8")-S/M/L/O EA 1,252.00     
 

NY HAMMERS GLUED TO PRE '84 SHANKS & FLANGES  

006220 NY HAMMERS GLUED HAM. S/F (5 1/8") - C/D - PRE '84 ST 1,334.00     

006219 NY HAMMERS GLUED HAM. S/F (5 1/8") - A/B - PRE '84 ST 1,313.00     

006218 NY HAMMERS GLUED HAM. S/F (5 1/8") -S/M/L/O - PRE '84 ST 1,313.00     
 

NY HAMMERS GLUED TO HAMBURG SHANKS & FLANGES  

006210 NY HAMMERS GLUED TO HAMBURG S/F (5 1/8") - C/D ST 1,334.00     

006209 NY HAMMERS GLUED TO HAMBURG S/F (5 1/8") - A/B ST 1,318.00     

006208 NY HAMMERS GLUED TO HAMBURG S/F (5 1/8") - S/M/L/O ST 1,311.00     
 

HAMBURG HAMMERS  

006247 HAMBURG HAMMERS - UNBORED - C/D ST 834.00        

006246 HAMBURG HAMMERS - UNBORED - A/B ST 802.00        

006241 HAMBURG HAMMERS - UNBORED - S/M/L/O ST 802.00        

006285 HAMBURG HAMMERS BORED - C/D - SPECIFY NY OR HAM. ST 856.00        

006284 HAMBURG HAMMERS BORED - A/B - SPECIFY NY OR HAM. ST 810.00        

006283 HAMBURG HAMMERS BORED - S/M/L/O - SPEC. NY OR HAM. ST 810.00        
 

HAMBURG HAMMERS GLUED TO HAMBURG SHANKS & FLANGES  

006290 HAMBURG HAMMERS GLUED TO HAMBURG S/F - D ST 1,725.00     

006287 HAMBURG HAMMERS GLUED TO HAMBURG S/F -C ST 1,784.00     

006289 HAMBURG HAMMERS GLUED TO HAMBURG S/F - A/B ST 1,682.00     

006288 HAMBURG HAMMERS GLUED TO HAMBURG S/F - S/M/L/O ST 1,682.00     
 

006617 HAMMERSHANK W/ FLANGE - NY IMPROVED ST 590.00        

HH6618 HAMMERSHANK W/ FLNG - NYI HAM. PROFILE (OCTAGONAL) ST 590.00        

005760 HAMMERSHANK WITH FLANGE - HAMBURG ST 653.00        

005017 HAMMERSHANK WITH FLANGE - HAMBURG - PRE '84 ST 653.00        

005633 HAMMERSHANK FLANGES ONLY - NY LOW-PROFILE ST 105.00        

004496 HAMMER REST FELT - 5/8" x 18" - UNCUT (2 PCS.) ST 10.00          

008651 HAMMERSHANK FLANGE DROP SCREW ST 29.00          

008449 SCREW - ACTION FLANGE ST 41.00          
 

008561 BUTT HINGE ASSEMBLY - TOP - D EA 40.00          

008562 BUTT HINGE ASSEMBLY - TOP - B EA 40.00          

008560 BUTT HINGE ASSEMBLY - TOP - M/L EA 40.00          

008565 BUTT HINGE ASSEMBLY - TOP - S EA 40.00          

008558 BUTT HINGE ASSEMBLY - TOP - 1098/4510/140TH EA 28.00          

CP8560 BUTT HINGE ASSEMBLY - TOP - CHROME - M/L EA 46.00          

CP8565 BUTT HINGE ASSEMBLY - TOP - CHROME - S EA 46.00          

CP8558 BUTT HINGE ASSEMBLY -TOP- CHROME - 1098/4510/140TH EA 33.00          

008342 SCREW - TOP BUTT HINGE - #8 x 5/8" - B/D DZ 7.00            

008415 SCREW - BUTT HINGE (CASE) - #10 x 1 1/4" DZ 9.00            

Effective: January 2011



Page 8 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ 7.00            

CP8415 SCREW - BUTT HINGE (CASE) - CHROME - #10 x 1 1/4" DZ 9.00            

008571 HINGE - [TOPSTICK - GRAND]  [DESK - B/D] EA 12.00          

008591 HINGE - CONTINUOUS - BRASS - GRAND/K EA 97.00          

CP8591 HINGE - CONTINUOUS - CHROME - GRAND/K EA 158.00        

008594 HINGE - 4'' SECTION - BRASS (USE W/ #008591 - D/K) EA 8.00            

CP8594 HINGE - 4" SECTION - CHROME (USE W/ #CP8591 - D-K) EA 15.00          

008443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - BRASS DZ 6.00            

CP8443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - CHROME DZ 9.00            

008584 HINGE CONTINUOUS BRASS - FALLBOARD - K52 EA 63.00          

008582 HINGE - CONTINUOUS 52" - BRASS  - 1098 EA 99.00          

008592 HINGE PINS - S/M/L/O/A/B/D - BRASS EA 7.00            

CP8592 HINGE PINS - S/M/L/O/A/B/D - CHROME EA 7.00            

008574 HINGE PINS - 'L' SHAPED - BRASS EA 5.00            

007988 HINGE PIN RUBBER TIPS DZ 7.00            
 

008839 HITCH PINS  5/8 X .151 DZ 8.00            

008845 HITCH PINS  5/8 X .157 DZ 8.00            

008842 HITCH PINS  7/8 X .149 DZ 8.00            

008843 HITCH PINS  7/8 X .150 DZ 8.00            

008844 HITCH PINS  7/8 X .151 DZ 8.00            
 

006833 KEY COVER SHEETS - FLAT/OVERSIZED - GRAND (CURRENT) ST 58.00          

006832 KEY COVERS -MOLDED/WHITE/PRE '84 - GRAND ST 44.00          

006848 KEY COVERS - KLUGE WOODEN SHARPS - B/D DZ 58.00          

006848 KEY COVERS - KLUGE WOODEN SHARPS - B/D (36 PCS.) ST 174.00        

006835 KEY COVERS - PLASTIC SHARPS -S/M/L/O/A/B/K/45 (36 PCS.) ST 155.00        

006826 KEY BUTTONS - UNCUT - LACQUERED W/ FELT BUSHING ST 99.00          

004466 KEY END FELT - 7/8" x 33" (RED FELT) EA 7.00            

009092 KEY LEADS - LARGE  (34 PCS.) ST 12.00          

009093 KEY LEADS - SMALL (60 PCS.) ST 13.00          

008797 LOCK KEY - GRAND EA 16.00          

023233 KEYBLOCK - (PAIR) EBONY UNFINISHED - D (2 PCS.) EA 71.00          

023553 KEYBLOCK- (PAIR) EBONY UNFIN.- S/M/L/O/A/B (2 PCS.) EA 55.00          

009025 KEYBLOCK PLATE - TREBLE/BASS EA 9.00            

008133 SCREW - KEYSLIP/KEYBLOCK GUIDES DZ 7.00            

008278 SCREW - KEYBLOCK PLATE - BLACK DZ 7.00            

008345 SCREW - T. STICK & DSK HINGE/KEYBLOCK PLATE - BRASS DZ 7.00            

CP8345 SCREW - T. STICK HINGE/KEYBLOCK PLATE - CHROME DZ 10.00          

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST 7.00            
 

008314 KEYFRAME GUIDE END PINS (4 PCS.) ST 7.00            

000022 KEYFRAME HOLD DOWN DAG EA 15.00          

004418 KEYFRAME REST BLOCK FELT - 1"x 9" x .075" EA 6.00            

007125 KEYFRAME W/ KEYS - D EA 3,930.00     

007124 KEYFRAME W/ KEYS - B EA 3,737.00     

007123 KEYFRAME W/ KEYS - S/M/L/O EA 3,191.00     

097195 KEYFRAME W/ KEYS - SHIPPING CARTON EA 75.00          

004490 KEYFRAME/BACKRAIL CLOTH & FELT (RED & GREEN) EA 15.00          
 

Effective: January 2011



Page 9 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

026539 KEYLID - EBONY FINISHED - D EA 783.00        

26538 KEYLID - EBONY FINISHED - B EA 692.00        

026537 KEYLID - EBONY FINISHED - S/M/L EA 560.00        

023324 KEYLID - EBONY UNFINISHED - D EA 598.00        

023323 KEYLID - EBONY UNFINISHED - B EA 598.00        

023322 KEYLID - EBONY UNFINISHED - S/M/L EA 385.00        

036537 KEYLID - MAH. FINISHED - S/M/L EA 783.00        

046537 KEYLID - WAL. FINISHED - S/M/L EA 834.00        

026558 KEYLID LIP- EBONY FINISHED - D (FOR #026539) EA 215.00        

026557 KEYLID LIP - EBONY FINISHED - B (FOR #026538) EA 215.00        

008232 SCREW - KEYLIP HINGE - BLACK - #4 x 1/2" DZ 7.00            

008231 SCREW- KEYLIP HINGE - BLACK - #4 x 5/16" DZ 7.00            

008311 SCREW - KEYLID END/DESK FRAME STOP DZ 8.00            

009023 KEYLID PIVOT BAR - BRASS EA 8.00            

008346 SCREW - KEYLID PIVOT BAR DZ 7.00            

026541 KEYSLIP - EBONY FINISHED - D EA 253.00        

026569 KEYSLIP - EBONY FINISHED - A/B EA 234.00        

026540 KEYSLIP - EBONY FINISHED - S/M/L EA 249.00        

023247 KEYSLIP - EBONY UNFINISHED - D EA 95.00          

023244 KEYSLIP - EBONY UNFINISHED - A/B EA 89.00          

023249 KEYSLIP - EBONY UNFINISHED - S/M/L EA 89.00          

036541 KEYSLIP - MAH. FINISHED - D EA 274.00        

036569 KEYSLIP - MAH. FINISHED - B EA 254.00        

036540 KEYSLIP - MAH. FINISHED - S/M/L EA 267.00        

033247 KEYSLIP - MAH. UNFINISHED - D EA 110.00        

033249 KEYSLIP - MAH. UNFINISHED - S/M/L EA 89.00          

046541 KEYSLIP - WAL. FINISHED - D EA 292.00        

046569 KEYSLIP - WAL. FINISHED - B EA 247.00        

046540 KEYSLIP - WAL. FINISHED - S/M/L EA 264.00        

043247 KEYSLIP - WAL. UNFINISHED - D EA 123.00        

043539 KEYSLIP - WAL. UNFINISHED - B EA 89.00          

043249 KEYSLIP - WAL. UNFINISHED - S/M/L EA 105.00        

008833 KEYSLIP PINS DZ 27.00          

008133 SCREW - KEYSLIP/KEYBLOCK GUIDES DZ 7.00            

004480 KEYSTOP RAIL FELT W/ ADHESIVE - 53 1/2" x 3/4" EA 6.00            

008605 KEYSTOP RAIL PROP NUT - OCTAGONAL DZ 6.00            

008741 KEYSTOP RAIL PROP NUT - SQUARE DZ 7.00            

008733 KEYSTOP RAIL PROP SCREW - GRAND DZ 7.00            

000012 KEYSTOP RAIL W/ FELT - D EA 53.00          

000011 KEYSTOP RAIL W/ FELT - B EA 53.00          

000010 KEYSTOP RAIL W/ FELT - S/M/L/O EA 52.00          

008600 KNOBS - BRASS - SHERATON 4510 EA 14.00          

008598 KNOBS - BRASS - VERTICAL EA 22.00          

007728 LACQUER - BLACK - GALLON (SHIPPED FROM SUPPLIER ) GA 82.00          

007724 LACQUER - CLEAR - GALLON (SHIPPED FROM SUPPLIER ) GA 82.00          

007566 LACQUER - UNDERCOAT - GAL. (SHIPPED FROM SUPPLIER ) EA 90.00          

007601 LUBRICANT - TFL-50 TEFLON SPRAY - 5 OZ. CAN EA 18.00          

Effective: January 2011



Page 10 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

097194 SINGLE LEG & LYRE - CARTON EA 50.00          

097193 MULTIPLE LEG - OUTER CARTON EA 80.00          

026576 LEG - EBONY FINISHED - NEW PLATE DESIGN - S/M/L/O/A EA 568.00        

026532 LEG - EBONY FINISHED - FRONT - S/M/L EA 408.00        

026533 LEG - EBONY FINISHED - REAR - S/M/L EA 408.00        

036532 LEG - MAH. FINISHED - FRONT - S/M/L EA 582.00        

036533 LEG - MAH. FINISHED - REAR - S/M/L EA 582.00        

023253 LEG - EBONY UNFINISHED - NEW PLATE DESIGN - S/M/L/O/A EA 322.00        

033251 LEG - EBONY/MAH. UNFINISHED - FRONT - S/M/L EA 306.00        

033252 LEG - EBONY/MAH. UNFINISHED - REAR - S/M/L EA 306.00        

046532 LEG - WAL. FINISHED - FRONT - S/M/L EA 895.00        

046533 LEG - WAL. FINISHED - REAR - S/M/L EA 895.00        

043251 LEG - WAL. UNFINISHED - FRONT - S/M/L EA 384.00        

043252 LEG - WAL. UNFINISHED - REAR- S/M/L EA 384.00        

006840 HAMBURG SHORT LEGS - MADE IN GERMANY - EBONY POLISH ST 2,507.00     

026575 HAMBURG SHORT LEGS - NY MADE - EBONY FINISHED ST 1,452.00     

026531 HAMBURG SHORT LEGS - NY MADE - EBONY UNFINISHED ST 1,329.00     

026574 HAMBURG SHORT LEGS - NY MADE - EBONY FINISHED - NEW PLATE DESIGN ST 1,452.00     

026573 HAMBURG SHORT LEGS - NY MADE - EBONY. UNFINISHED - NEW PLATE DESIGN ST 1,327.00     

026557 LEG - EBONY FINISHED - NEW PLATE DESIGN - B/D EA 215.00        

026611 LEG - EBONY FINISHED W/O HDW. - B/D EA 425.00        

12P611 LEG - EBONY (HIGH GLOSS) FINISHED W/O HDW. - B/D EA 553.00        

023262 LEG - EBONY UNFINISHED - NEW PLATE DESIGN - B/D EA 338.00        

023263 LEG - EBONY UNFINISHED W/O HDW. - B/D EA 329.00        

036611 LEG - MAH. FINISHED W/O HDW. - B/D EA 541.00        

033263 LEG - MAH. UNFINISHED W/O HDW. - B/D EA 394.00        

033481 LEG - MAH. UNFINISHED - FRONT - 1014 EA 1,133.00     

033476 LEG - MAH. UNFINISHED - REAR - 1014 EA 1,133.00     

046428 LEG - WAL. FINISHED W/O HDW. - 4510 (VERTICAL) EA 329.00        

041180 LEG - WAL. UNFINISHED W/O HDW. - 4510 (VERTICAL) EA 195.00        

000321 LEG & LYRE BUTTONS - S/M/L EA 22.00          

000324 LEG & LYRE LOCKING WEDGES - B/D PR 33.00          

097873 LEG/LYRE PLATE LOCK - HEX KEY (USE W/ #009060) EA 3.00            

009060 LEG & LYRE PLATE LOCKS (M & F) - NEW STYLE (USE W/ #097873) EA 35.00          

009061 LEG & LYRE PLATE LOCKS (M & F) - ORIGINAL STYLE EA 28.00          

008356 SCREW - LEG & LYRE BUTTON/WEDGE - 2 1/4" DZ 7.00            

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST 7.00            

005070 LET-OFF BUTTON W/ PUNCHING (THIN) NON-STANDARD ST 57.00          

005071 LET-OFF BUTTON W/ PUNCHING - STANDARD ST 57.00          

005072 LET-OFF BUTTON W/ PUNCHING (THICK) NON-STANDARD ST 59.00          

005119 LET-OFF REGULATING BUTTON W/O FELT 5/16 ST 15.00          

005108 LET-OFF REGULATING BUTTONS 15/64" W/O FELT ST 15.00          

007264 LET-OFF REGULATING PUNCHINGS (NY) ST 8.00            

008944 LET-OFF REGULATING SCREWS ST 16.00          

023188 LOCKBAR - EBONY UNFINISHED - D EA 114.00        

026529 LOCKBAR - EBONY FINISHED - B EA 240.00        

023186 LOCKBAR - EBONY UNFINISHED - B EA 114.00        

023185 LOCKBAR - EBONY UNFINISHED - L EA 81.00          

023358 LOCKBAR - EBONY UNFINISHED - S/M EA 77.00          

Effective: January 2011



Page 11 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

004420 LOCKBAR FELT - 1 5/16" x 56" EA 6.00            

008313 SCREW - LOCKBAR - 2 3/4" - B (CURRENT) ST 7.00            

008353 SCREW - LOCKBAR - S/M/L (6 PCS.) ST 7.00            

008392 SCREW - LOCKBAR/SIDE PROTECT. RUNNER - D (6 PCS.) ST 7.00            

008387 SCREW -  LOCKBAR/SIDE PROTECT. RUNNER - B (6 PCS.) ST 7.00            

CP8416 SCREW- LOCKBAR - CHROME DZ 14.00          

026556 LYRE - EBONY FINISHED W/ HDW. - GRAND - 21 1/2" - NEW LOCK PLATE EA 863.00        

026549 LYRE - EBONY FINISHED W/O HDW. - GRAND - 21 1/2" - NEW LOCK PLATE EA 622.00        

026551 LYRE - EBONY UNFINISHED W/O HDW. - GRAND - 21 1/2" - NEW LOCK PLATE EA 429.00        

026553 LYRE - EBONY FINISHED W/ HDW. - GRAND - 21 1/2" EA 822.00        

026546 LYRE - EBONY FINISHED W/O HDW. - GRAND - 21 1/2" EA 490.00        

026559 LYRE - EBONY UNFINISHED W/O HDW. - GRAND - 21 1/2" EA 336.00        

036553 LYRE - MAH. FINISHED W/ HDW. - GRAND - 21 1/2" EA 833.00        

036546 LYRE - MAH. FINISHED W/O HDW. - GRAND - 21 1/2" EA 499.00        

036559 LYRE - MAH. UNFINISHED W/O HDW. - GRAND - 21 1/2" EA 369.00        

046553 LYRE - WAL. FINISHED W/ HDW. - GRAND - 21 1/2" EA 847.00        

046546 LYRE - WAL. FINISHED W/O HDW. - GRAND - 21 1/2" EA 523.00        

046559 LYRE - WAL. UNFINISHED W/O HDW. - GRAND - 21 1/2" EA 397.00        

033485 LYRE - MAH. UNFINISHED W/O HDW. - 1014 CHIP. EA 1,184.00     

043485 LYRE - WAL. UNFINISHED W/O HDW. - 1014 CHIP. EA 1,309.00     

026552 LYRE - EBONY FINISHED W/ HDW. - GRAND - 20 13/16" EA 822.00        

026548 LYRE - EBONY FINISHED W/O HDW. - GRAND - 20 13/16" EA 475.00        

026550 LYRE - EBONY UNFINISHED W/O HDW.- GRAND -20 13/16 EA 310.00        

036552 LYRE - MAH. FINISHED W/ HDW. - GRAND - 20 13/16" EA 833.00        

036548 LYRE - MAH. FINISHED W/O HDW. - GRAND - 20 13/16" EA 489.00        

036550 LYRE - MAH. UNFINISHED W/O HDW.- GRAND - 20 13/16" EA 310.00        

046552 LYRE - WAL. FINISHED W/ HDW.- GRAND - 20 13/16" EA 819.00        

046548 LYRE - WAL. FINISHED W/O HDW.- GRAND - 20 13/16" EA 504.00        

046550 LYRE - WAL. UNFINISHED W/O HDW.- GRAND - 20 13/16" EA 323.00        

003284 LYRE BOX BOTTOM PIECE - UNFINISHED - 1/2" EA 22.00          

006816 LYRE HARDWARE - BRASS - COMPLETE ST 351.00        

CP6816 LYRE HARDWARE - CHROME - COMPLETE ST 447.00        

008611 LYRE ORNAMENT W/ ROSETTES EA 207.00        

009061 LEG & LYRE PLATE LOCKS (ORIGINAL) EA 28.00          

009060 LEG & LYRE PLATE LOCKS (NEW STYLE) EA 35.00          

008356 SCREW - LEG & LYRE BUTTON/WEDGE - 2 1/4" DZ 7.00            

003285 LYRE STICKS - UNFINISHED - 25"  (EBONY/MAH./WAL.) PR 63.00          

026554 LYRE STICKS - EBONY FINISHED PR 260.00        

036554 LYRE STICKS - MAH. FINISHED PR 270.00        

046554 LYRE STICKS - WAL. FINISHED PR 270.00        

033443 LYRE STICKS - MAH. UNFINISHED - 1014/501 (ROUND) PR 99.00          

043443 LYRE STICKS - WAL. UNFINISHED - 1014/501 (ROUND) PR 105.00        

000336 LYRE TOP BLOCK - UNFINISHED - GRAND EA 92.00          

Effective: January 2011



Page 12 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

031882 MUSIC SHEET RAIL - EBONY/MAH. UNFINISHED - K52 EA 98.00          

041038 MUSIC SHEET RAIL - WAL. UNFINISHED - 1098 EA 82.00          

009056 NOSE BOLT NUT - LARGE EA 10.00          

009153 NOSE BOLT NUT - SMALL EA 9.00            

009037 NOSEBOLT #1 - BASS - 8 3/8" - D EA 18.00          

009034 NOSEBOLT #1 - BASS - 8 9/16" - B EA 18.00          

009031 NOSEBOLT #1 - BASS - 8 1/4" - S/M/L EA 18.00          

009038 NOSEBOLT #2 - MID - 6 3/8" - D EA 18.00          

009035 NOSEBOLT #2 - MID - 7 1/2" - B EA 18.00          

009032 NOSEBOLT #2 - MID - 6 1/6" - S/M/L EA 18.00          

009039 NOSEBOLT #3 - TREBLE - 6 5/8" - D EA 18.00          

009036 NOSEBOLT #3 - TREBLE - 6 3/8" - B EA 18.00          

009033 NOSEBOLT #3 - TREBLE - 6 5/8" - S/M/L EA 18.00          

007750 PAINT-PLATE POWDER  - STEINWAY GOLD - 4 OZ. JAR EA 22.00          

007735 PAINT- PLATE SPRAY - STEINWAY GOLD - 12 OZ. CAN EA 28.00          

008676 PEDAL - LEFT BRASS - GRAND EA 53.00          

008675 PEDAL - CENTER BRASS - GRAND EA 53.00          

008677 PEDAL - RIGHT BRASS - GRAND EA 53.00          

008678 PEDAL FACE PLATE - BRASS EA 112.00        

008679 PEDAL ASSEMBLY COMPLETE - BRASS - GRAND EA 240.00        

008415 SCREW - PEDAL FACE PLATE/TOPSLIP - BRASS DZ 7.00            

008323 SCREW - PEDAL PIVOT ROD/UNDERPLATE DZ 7.00            

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST 7.00            

006816 LYRE HARDWARE - BRASS - COMPLETE ST 351.00        

008621 PEDAL FACE PLATE - CHROME PLATED EA 133.00        

CP8679 PEDAL ASSEMBLY COMPLETE - CHROME PLATED - GRAND EA 334.00        

CP8349 SCREW - PEDAL PLATE / TOPSLIP (CHROME) DZ 12.00          

005258 PEDAL CUSHIONS (3 PCS.) ST 9.00            

000457 PEDAL LIFT DOWEL 1/2" x 30" - 45 (VERTICAL) EA 10.00          

000249 PEDAL LIFT DOWEL W/ PUNCHING - 1/2" x 4" EA 6.00            

007309 TRAPWORK - ROUND LEATHER DISKS - 1" x 7/32" DZ 7.00            

008847 PEDAL PIVOT ROD EA 6.00            

007940 PEDAL PIVOT ROD TEFLON BUSHING DZ 16.00          

007286 PEDAL ROD LEATHER DISKS - 15/32" x 3/16" x 3/32" DZ 9.00            

009129 PEDAL ROD HEX NUT - BRASS EA 9.00            

008649 PEDAL ROD JAM NUT BRASS - 1/4" DZ 7.00            

008650 PEDAL ROD LOCKWASHERS - BRASS - 1/4" DZ 7.00            

008661 PEDAL ROD THUMB NUT - BRASS (CURRENT) DZ 7.00            

CP9129 PEDAL ROD HEX NUT - CHROME EA 12.00          

CP8649 PEDAL ROD JAM NUT CHROME - 1/4" DZ 7.00            

CP8650 PEDAL ROD LOCKWASHERS - CHROME - 1/4" DZ 13.00          

CP8661 PEDAL ROD THUMB NUT - CHROME (CURRENT) EA 7.00            

006828 PEDAL RODS W/ HDW. - ADJUSTABLE - BRASS (3 RODS) ST 71.00          

CP6828 PEDAL RODS W/ HDW. - ADJUSTABLE - CHROME (3 RODS) ST 78.00          

007910 PEDAL ROD RUBBER BUSHING (USE W/ #007281) DZ 8.00            

007281 LYRE LEATHER BUSHING (USE WITH #007910) DZ 6.00            

008674 PEDAL ROD UNDERPLATE W/O SCREWS (3 PCS.) ST 27.00          

008639 PEDAL SET - BRASS - 45/K52 ST 78.00          

008001 PEDAL SLIPPERS - RIGHT/LEFT ST 14.00          

Effective: January 2011



Page 13 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

006779 PIANO COVER - MACINTOSH - BLACK - D EA 319.00        

006778 PIANO COVER - MACINTOSH - BLACK - B EA 257.00        

006777 PIANO COVER - MACINTOSH - BLACK - L EA 251.00        

006776 PIANO COVER - MACINTOSH - BLACK - M EA 242.00        

006775 PIANO COVER - MACINTOSH - BLACK - S EA 232.00        

006774 PIANO COVER - MACINTOSH - BLACK - K EA 231.00        

026967 PIANO LID COVER (FESTIVAL) BLACK - D EA 204.00        

026966 PIANO LID COVER (FESTIVAL) BLACK - B EA 174.00        

026965 PIANO LID COVER (FESTIVAL) BLACK - A EA 157.00        

026964 PIANO LID COVER (FESTIVAL) BLACK - L/O EA 153.00        

026963 PIANO LID COVER (FESTIVAL) BLACK - M EA 147.00        

026962 PIANO LID COVER (FESTIVAL) BLACK - S EA 143.00        

026968 PIANO LID COVER (FESTIVAL) BLACK - 45 EA 74.00          

008721 PLATE LUG WEDGE - 1/4" EA 7.00            

008719 PLATE LUG WEDGE - 1/8" EA 7.00            

008720 PLATE LUG WEDGE - 3/16" EA 7.00            

008722 PLATE LUG WEDGE - 5/16" EA 7.00            

006506 PLATE NUTS, BOLTS & SCREWS - D ST 235.00        

006505 PLATE NUTS, BOLTS & SCREWS - B ST 235.00        

006507 PLATE NUTS, BOLTS & SCREWS - A (0-89000) ST 235.00        

006508 PLATE NUTS, BOLTS & SCREWS - A (89001-117000) ST 235.00        

006509 PLATE NUTS, BOLTS & SCREWS - A (117001-163000) ST 235.00        

006510 PLATE NUTS, BOLTS & SCREWS - A (163001-321000) ST 235.00        

006500 PLATE NUTS, BOLTS & SCREWS - S/M/L/O ST 235.00        

008274 PLATE/BELL BOLT- CHROME - B/D EA 9.00            

008255 PLATE NUT - BELL BOLT - B EA 8.00            

008273 PLATE/HEX BOLT - CHROME - 3/8 x 6 EA 9.00            

008264 SCREW - PLATE FLANGE COVER STRIP DZ 7.00            

008268 SCREW - PLATE LAG - 3" - D EA 8.00            

008269 SCREW - PLATE LAG - CHROME  - 4" EA 9.00            

008383 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16 DZ 45.00          

008379 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16 DZ 45.00          

008354 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16 DZ 44.00          

006689 REPETITIONS (SET) - NYI EA 1,123.00     

005740 REPETITIONS (SET) - HAMBURG ST 1,152.00     

005136 REPETITIONS (SET) - HAMBURG - PRE '84 ST 1,152.00     

008449 SCREW - ACTION FLANGE ST 41.00          

009050 REPETITION SPRINGS - BASS ST 22.00          

009049 REPETITION SPRINGS - TREBLE ST 8.00            

005636 REPETITION SUPPORT FLANGES ST 194.00        

008655 REPETITION SUPPORT SPOONS ST 71.00          

004406 REP. SUP. FELT - 3/16" x 34 1/2" (USE W/ 004403) EA 5.00            

004403 REP. SUPPORT FELT - 5/8" x 34 1/2" (USE W/ 004406) EA 13.00          

008387 SCREW -  LOCKBAR/SIDE PROTECT. RUNNER - B (6 PCS.) ST 7.00            

008342 SCREW - BUTT HINGE - #8 x 5/8" - B/D DZ 7.00            

008415 SCREW - BUTT HINGE (CASE) - #10 x 1 1/4" DZ 9.00            

CP8415 SCREW - BUTT HINGE (CASE) - CHROME - #10 x 1 1/4" DZ 9.00            

008381 SCREW - CASTER SOCKET - #12 x 2 1/4" DZ 7.00            

Effective: January 2011



Page 14 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

008343 SCREW - DESK BUTT HINGE/DESK SPRT- BRASS - 8 x 5/8 DZ 7.00            

008376 SCREW - DESKFRAME SLIDE DZ 7.00            

008425 SCREW - DESKFRAME SLIDE - (REAR) - D DZ 7.00            

008337 SCREW - DESK SUPPORT HINGE - 6 X 5/16 DZ 8.00            

CP8339 SCREW - DESK/TOPSTICK HINGE - CHROME - #4 x 3/8" DZ 8.00            

008339 SCREW - DESK/TOPSTICK HINGE BRASS - #4 x 3/8 DZ 7.00            

008278 SCREW - KEYBLOCK PLATE - BLACK DZ 7.00            

008311 SCREW - KEYLID END/DESK FRAME STOP DZ 8.00            

008346 SCREW - KEYLID PIVOT BAR DZ 7.00            

008232 SCREW - KEYLIP HINGE - BLACK - #4 x 1/2" DZ 7.00            

008133 SCREW - KEYSLIP/KEYBLOCK GUIDES DZ 7.00            

008356 SCREW - LEG & LYRE BUTTON/WEDGE - 2 1/4" DZ 7.00            

008313 SCREW - LOCKBAR - 2 3/4" - B (CURRENT) ST 7.00            

008353 SCREW - LOCKBAR - S/M/L (6 PCS.) ST 7.00            

008392 SCREW - LOCKBAR/SIDE PROTECT. RUNNER - D (6 PCS.) ST 7.00            

008349 SCREW - PEDAL FACE PLATE/TOPSLIP - BRASS DZ 7.00            

008323 SCREW - PEDAL PIVOT ROD/UNDERPLATE DZ 7.00            

CP8349 SCREW - PEDAL PLATE / TOPSLIP (CHROME) DZ 12.00          

008264 SCREW - PLATE FLANGE COVER STRIP DZ 7.00            

008268 SCREW - PLATE LAG - 3" - D EA 8.00            

008269 SCREW - PLATE LAG - CHROME  - 4" EA 9.00            

008383 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16 DZ 45.00          

008379 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16 DZ 45.00          

008354 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16 DZ 44.00          

008347 SCREW - KEYFRAME REST BLOCK - S/M/L/O/A/B/D DZ 7.00            

008324 SCREW - SOSTENUTO ROD BRACKET DZ 7.00            

CP8345 SCREW - T. STICK HINGE/KEYBLOCK PLATE - CHROME DZ 10.00          

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ 7.00            

008420 SCREW - TOPSTICK TONGUE DZ 15.00          

008231 SCREW - KEYLIP HINGE - BLACK - #4 x 5/16" DZ 7.00            

008345 SCREW -T. STICK & DSK HINGE/KEYBLOCK PLATE - BRASS DZ 7.00            

008180 SCREW - KEYBLOCK-VERTICALS EA 4.00            

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST 7.00            

008443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - BRASS DZ 6.00            

CP8443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - CHROME DZ 9.00            

000340 SIDE PROTECTION RUNNERS 90 1/8" - EBONY - D PR 153.00        

000339 SIDE PROTECTION RUNNERS 66" - EBONY - B PR 137.00        

008392 SCREW - LOCKBAR/SIDE PROTECT. RUNNER - D (6 PCS.) ST 7.00            

008387 SCREW -  LOCKBAR/SIDE PROTECT. RUNNER - B (6 PCS.) ST 7.00            

006820 SOSTENUTO ROD COMPLETE - D ST 185.00        

006818 SOSTENUTO ROD COMPLETE - B ST 185.00        

006817 SOSTENUTO ROD COMPLETE - S/M/L ST 185.00        

007287 SOSTENUTO - LEATHER DISKS - 15/32" x 3/16" x 3/16" DZ 7.00            

000051 SOSTENUTO - MONKEY EA 13.00          

000052 SOSTENUTO - MONKEY GUIDE BLOCK EA 8.00            

008865 SOSTENUTO - MONKEY SPRING - FLAT EA 8.00            

000053 SOSTENUTO - MONKEY SPRING BLOCK EA 8.00            

009027 SOSTENUTO - ROD BRACKET EA 15.00          

007933 SOSTENUTO - ROD BUSHING ENDS (4 PCS.) ST 12.00          

007934 SOSTENUTO - ROD BUSHING/SLEEVE (4 PCS.) ST 7.00            

Effective: January 2011



Page 15 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

008910 SOSTENUTO - ROD ONLY - 45/K52 EA 89.00          

008634 SOSTENUTO - ROD ONLY - D EA 89.00          

008633 SOSTENUTO - ROD ONLY - A/B EA 89.00          

008632 SOSTENUTO - ROD ONLY - S/M/L EA 89.00          

008324 SCREW - SOSTENUTO ROD BRACKET DZ 7.00            

000274 SOUNDBOARD SHIMS - SPRUCE - 100' ST 90.00          

007732 SOUNDBOARD SEALER (SUPPLIED BY VENDOR) EA 104.00        

007734 SOUNDBOARD VARNISH (SUPPLIED BY VENDOR) EA 140.00        

008858 SPRING - DAMPER UNDERLEVER FRAME - COIL EA 6.00            

008873 SPRING - KEYFRAME SHIFT #17 EA 9.00            

008863 SPRING - TRAPWORK - #4 FLAT EA 13.00          

008861 SPRING - TRAPWORK - #8 SPIRAL COIL EA 6.00            

008643 SPRING - UNDERLEVER (OLD STYLE - FLAT) ST 18.00          

006491 STEEL WIRE TREBLE STRINGS - D ST 134.00        

006488 STEEL WIRE TREBLE STRINGS - B ST 134.00        

006490 STEEL WIRE TREBLE STRINGS - L ST 134.00        

006487 STEEL WIRE TREBLE STRINGS - M ST 134.00        

006486 STEEL WIRE TREBLE STRINGS - S ST 134.00        

004458 BELLYMAN FELT - 56" x 1"  (3 pcs.) ST 37.00          

006336 STRINGING CLOTH & FELT (SET) - D EA 80.00          

006335 STRINGING CLOTH & FELT (SET) - B EA 68.00          

006334 STRINGING CLOTH & FELT (SET) - S/M/L EA 68.00          

007210 STRINGING TAPE - YARD YD 5.00            

007938 TEFLON BUSHINGS - LARGE PK 40.00          

007935 TEFLON BUSHINGS - SMALL PK 37.00          

006808 TEFLON KIT EA 118.00        

006887 TOOLS - BACKCHECK INSTALLATION BLOCK EA 35.00          

099551 TOOLS - CENTER PIN REAMER - .048 EA 29.00          

099553 TOOLS - CENTER PIN REAMER - .049 EA 29.00          

099556 TOOLS - CENTER PIN REAMER - .0500 EA 29.00          

099560 TOOLS - CENTER PIN REAMER - .0510 EA 29.00          

006839 TOOLS - DAMPER HOOK TOOL EA 85.00          

006224 TOOLS - DAMPER UNDERLEVER (LEAD) PLIERS EA 170.00        

006864 TOOLS - HAMMER FILING RAIL - GRAND EA 41.00          

006244 TOOLS - HAMMER VOICING BLOCK EA 18.00          

006841 TOOLS - KEY DIP (TOUCH) BLOCK - .390 EA 18.00          

006804 TOOLS - KEY DIP (TOUCH) BLOCK - .400 EA 19.00          

006871 TOOLS - KEY DIP (TOUCH) BLOCK - .420 EA 18.00          

006857 TOOLS - FACTORY KEY LEVEL - ALUMINUM EA 162.00        

006403 TOOLS - LID PROP BLOCK - VERTICAL EA 28.00          

006243 TOOLS - REPETITION SPRING TOOL EA 37.00          

006242 TOOLS - REPETITION SPRING TOOL (HAMBURG) EA 40.00          

006859 TOOLS - SOSTENUTO HEIGHT GAUGE EA 52.00          

006879 TOOLS - WIRE BENDING PLIERS (NEEDLE NOSE) EA 65.00          

Effective: January 2011



Page 16 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

097192 TOP BOX: S/M/L/O EA 194.00        

099419 TOP BOX: B EA 250.00        

099420 TOP BOX: D EA 283.00        

026519 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - D EA 5,299.00     

026517 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - B EA 5,093.00     

026515 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - A EA 5,126.00     

026513 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - L EA 4,361.00     

026505 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - S EA 4,238.00     

026518 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - D EA 2,505.00     

026516 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - B EA 2,050.00     

026514 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - A EA 2,497.00     

026512 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - L EA 2,203.00     

026506 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - M EA 1,807.00     

026504 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - S EA 1,715.00     

036508 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFIN.- 1014 CHIP. EA 2,247.00     

036516 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - B EA 3,344.00     

036514 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - A EA 3,344.00     

036512 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - L EA 3,022.00     

036506 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - M EA 2,807.00     

036504 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - S EA 2,748.00     

046508 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFIN.- 1014 CHIP. EA 2,723.00     

046510 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFIN.- 501 LOUIS EA 3,344.00     

046512 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFINISHED - L EA 3,324.00     

046506 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFINISHED - M EA 3,171.00     

046504 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFINISHED - S EA 3,001.00     

023174 TOPSLIP - EBONY UNFINISHED - D EA 74.00          

026555 TOPSLIP - EBONY FINISHED - S/M/L/O/A/B EA 215.00        

023182 TOPSLIP - EBONY UNFINISHED - S/M/L/O/A/B EA 53.00          

036555 TOPSLIP - MAH. FINISHED - S/M/L/O/A/B EA 215.00        

004415 TOPSLIPS FELT - BLACK W/ ADHESIVE - 1 1/2" x 54" EA 6.00            

008349 SCREW - PEDAL FACE PLATE/TOPSLIP - BRASS DZ 7.00            

CP8349 SCREW - PEDAL PLATE / TOPSLIP (CHROME) DZ 12.00          

026526 TOPSTICK TONGUE - EBONY FINISHED EA 82.00          

023191 TOPSTICK TONGUE - EBONY UNFINISHED EA 29.00          

036526 TOPSTICK TONGUE - MAH. FINISHED EA 90.00          

033191 TOPSTICK TONGUE - MAH. UNFINISHED EA 28.00          

046526 TOPSTICK TONGUE - WAL. FINISHED EA 100.00        

043191 TOPSTICK TONGUE - WAL. UNFINISHED EA 68.00          

007964 TOPSTICK TONGUE WASHERS DZ 7.00            

008420 SCREW- TOPSTICK TONGUE DZ 8.00            

026524 TOPSTICKS W/O HARDWARE - EBONY FINISHED EA 238.00        

026523 TOPSTICKS W/O HARDWARE - EBONY UNFINISHED EA 104.00        

036524 TOPSTICKS W/O HARDWARE - MAH. FINISHED EA 276.00        

036523 TOPSTICKS W/O HARDWARE - MAH. UNFINISHED EA 108.00        

046524 TOPSTICKS W/O HARDWARE - WAL. FINISHED EA 296.00        

046523 TOPSTICKS W/O HARDWARE - WAL. UNFINISHED EA 108.00        

006525 TOPSTICK HARDWARE KIT ST 20.00          

Effective: January 2011



Page 17 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

008571 HINGE - [TOPSTICK - GRAND]  [DESK - B/D] EA 12.00          

CP8571 HINGE - CHROME- [T. STICK- GRD.] [DESK B/D] EA 19.00          

008345 SCREW -T. STICK & DSK HINGE/KEYBLOCK PLATE - BRASS DZ 7.00            

CP8339 SCREW - DESK/TOPSTICK HINGE - CHROME - #4 x 3/8" DZ 8.00            

CP8345 SCREW - T. STICK HINGE/KEYBLOCK PLATE - CHROME DZ 10.00          

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ 7.00            

004321 TRAPWORK - BLACK NYLON BUSHINGS DZ 9.00            

008622 TRAPWORK - PIVOT PINS EA 6.00            

007309 TRAPWORK - ROUND LEATHER DISKS - 1" x 7/32" DZ 7.00            

000300 SHIFT/DAMPER LEVER PIVOT BLOCK - GRAND PR 5.00            

009006 TRAPWORK - SHIFT PEDAL LEVER (IRON) EA 76.00          

003683 TRAPWORK - DAMPER LEVERS - D ST 70.00          

003682 TRAPWORK - DAMPER LEVERS - B ST 62.00          

003681 TRAPWORK - DAMPER LEVERS - S/M/L/O ST 70.00          

003317 TRAPWORK - SOSTENUTO LEVERS - D (2 PCS.) ST 104.00        

003316 TRAPWORK - SOSTENUTO LEVERS - B (2 PCS.) ST 84.00          

003315 TRAPWORK - SOSTENUTO LEVERS - S/M/L (2 PCS.) ST 85.00          

008807 TRAPWORK - SCREW HOOK - 3" EA 5.00            

008172 SCREW - SOSTENUTO SHIFT LEVER PIVOT BLOCK EA 1.00            

008192 SCREW - DAMPER/SHIFT LEVER PIVOT BLOCK EA 1.00            

008777 TUNING PINS - 2 1/2'' (2/0) ST 97.00          

008780 TUNING PINS - 2 1/2'' (3/0) ST 97.00          

008783 TUNING PINS - 2 1/2'' (4/0) ST 97.00          

008781 TUNING PINS - 2 3/4'' (3/0) ST 97.00          

008776 TUNING PINS - 2 3/8'' (2/0) ST 97.00          

008785 TUNING PINS - 2 3/8'' (3/0) ST 97.00          

008774 TUNING PINS - 2 3/8'' (4/0) ST 97.00          

008779 TUNING PINS - 2 5/8'' (2/0) ST 97.00          

008782 TUNING PINS - 2 5/8'' (3/0) ST 97.00          

005729 UNDERLEVER (DAMPER) FRAME - C/D EA 86.00          

005728 UNDERLEVER (DAMPER) FRAME - A/B EA 86.00          

005727 UNDERLEVER (DAMPER) FRAME - S/M/L/O EA 86.00          

006643 UNDERLEVER SET - UNMOUNTED - GRAND (NY) EA 643.00        

006268 UNDERLEVERS MOUNTED TO FRAME - C/D (NY) EA 847.00        

006267 UNDERLEVERS MOUNTED TO FRAME - A/B (NY) EA 824.00        

006266 UNDERLEVERS MOUNTED TO FRAME - S/M/L/O (NY) EA 824.00        

000041 UNDERLEVER FRAME PIVOT BLOCK - FIT TO SIZE EA 8.00            

005256 UNDERLEVER FRAME SPRING RAVIOLI (6 PCS.) ST 13.00          

009102 UNDERLEVER LEADS (NEW STYLE) DZ 52.00          

008449 SCREW - ACTION FLANGE ST 41.00          

008653 SCREW - UNDERLEVER WIRE SOCKET ST 14.00          

008793 UNDERLEVER WIRE SOCKETS ST 14.00          

004457 UNDERLEVER FRAME CUSHION FELT - 1" x 43" EA 12.00          

004118 WRESTPLANK - C/D EA 864.00        

004116 WRESTPLANK - A/B EA 780.00        

004115 WRESTPLANK - S/M/L/O EA 780.00        

004006 WRESTPLANK (UNCUT "BOOK") - C/D 45MM THICK EA 1,425.00     

004005 WRESTPLANK (UNCUT "BOOK") - S/M/L/O/A/B 42MM THICK EA 1,246.00     

Effective: January 2011



Page 18 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

000319 WRESTPLANK PLUGS - 5/16" DIA. x 1 3/8" DZ 19.00          

008383 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16 DZ 45.00          

008379 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16 DZ 45.00          

008354 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16 DZ 44.00          

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST 7.00            

097195 KEYFRAME W/ KEYS - SHIPPING CARTON EA 75.00          

097875 ACTION FRAME - SHIPPING CARTON EA 25.00          

097193 MULTIPLE LEG - OUTER CARTON EA 80.00          

097194 SINGLE LEG & LYRE - CARTON EA 50.00          

097192 TOP BOX: S/M/L/O EA 194.00        

099419 TOP BOX: B EA 250.00        

099420 TOP BOX: D EA 283.00        

006869 WORK APRON - BLACK, THREE-POCKET W/ LOGO EA 19.00          

006880 TOTE BAG - BLACK, W/ STEINWAY LOGO EA 17.00          

006899 ATTACHE CASE- LANDS END CANVAS EA 102.00        

10M079 DVD - A REMINISCENCE:  1916 PHOTO TOUR OF STEINWAY EA 28.00          

006850 CD - "WORLDWIDE TECHNICAL REFERENCE GUIDE" EA 38.00          

006856 BOOK - "WORLDWIDE TECHNICAL REFERENCE GUIDE" - EA 75.00          

006855 BOOK - "MY LIFE W/ THE GREAT PIANISTS " - F. MOHR EA 18.00          

10M148 BOOK - "HENRY THE STEINWAY A STAR IS BORN" EA 13.00          

10M048 BOOK - "HENRY THE STEINWAY AND THE PIANO RECITAL" EA 13.00          

10M800 BOOK - "PEOPLE AND PIANOS" - THEODORE E. STEINWAY EA 18.00          

10M952 BOOK - "PIANO" - JAMES BARRON EA 23.00          
 

099688 CERAMIC MUG - W/ GOLD LOGO - BLACK EA 12.00          

006933 CARDS - MODEL D, OVERHEAD - BLANK W/ ENVELOPES (50) BX 37.00          

10M340 POSTER - CROSS SECTION - MODEL M EA 11.00          

10M310 MODEL D CONCERT GRAND POSTER - 24" X 38" EA 11.00          

006917 MOUSE PAD - OVERVIEW MODEL D EA 17.00          

10M953 FOLDING UMBRELLA, VENTED - BLACK W/ LOGO EA 36.00          
 

099715 STEINWAY HOODED SWEATSHIRT- BLACK MEDIUM EA 32.00          

099716 STEINWAY HOODED SWEATSHIRT- BLACK LARGE EA 32.00          

099718 STEINWAY HOODED SWEATSHIRT- BLACK  X- LARGE EA 32.00          

099719 STEINWAY HOODED SWEATSHIRT- BLACK  2X- LARGE EA 38.00          

099545 T-SHIRT, BLACK - MEDIUM EA 14.00          

099569 T-SHIRT, BLACK - LARGE EA 14.00          

099570 T-SHIRT, BLACK - X-LARGE EA 14.00          

099565 T-SHIRT, WHITE - LARGE EA 14.00          

099566 T-SHIRT, WHITE - X-LARGE EA 14.00          
 

099567 SHIRT - GOLF, BLACK - MEDIUM EA 50.00          

099544 SHIRT - GOLF, WHITE - SMALL EA 50.00          

099564 SHIRT - GOLF, WHITE - MEDIUM EA 50.00          

006904 GOLF CAP - BLACK, W/ STEINWAY LOGO EA 30.00          
-              

STEINWAY BOUTIQUE

BOX/CARTON CHARGES

Effective: January 2011



Page 19 of 19

ITEM NO.                                DESCRIPTION UNIT OF 2011

MEASURE PRICE

099710 SWEATER - V-NECK, BLACK - LARGE EA 50.00          

099706 SWEATER - V-NECK, WHITE - LARGE EA 50.00          
 

10M963 BLACK BIC PIVO PEN W/ S&S LOGO (PK/25) PK 30.00          

10M961 PEN, GOLD PLATED W/ EMBLEM - GARLAND EA 42.00          

"Note by Note" available on-line at www.notebynotethemovie.com

Effective: January 2011



 
 
 
 
 
 

Steinway & Sons 
One Steinway Place, Long Island City, NY 11105 

 

Parts Department Order Form 
 

Orders can be placed by: 
Email:  parts@steinway.com 

Fax:  718-267-3415 or Toll Free Fax: 866-783-4692 
 
 
 

Customer Number: 

Name: P.O. #: 

Address: 

City, State, Zip: 

Phone Number: Email: 

Credit Card Number: Exp.  

  
PART # QTY DESCRIPTION 

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

 

mailto:parts@steinway.com

